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(A m) (M. m) (M m) (%) (%) (%)
FEH (KE—1 IEER/NVHEET1 TESH 108, 000 107, 000 106,000| -0.9 -0.9 -1.9
(2 —30)
R E—2 KETREREREE2TH4E 92, 800 92,900 93, 000 0.1 0.1 0.2
(EE—2 3)
BE—24 FEEH=HRARITE8ES6 35, 300 34, 800 34,300 -1.4 -1.4 -2.8
(FE—19) [=ERE3I—8—6]
KE—3 4 I BT ANMREEBT 1 TH 19%3 104, 000 104, 000 104, 000 0.0 0.0 0.0
(RE—22)
E—37 IEETHHEE1TE16%9 48, 500 48, 300 47,900 -0.4 -0.8 -1.2
(KE—17) THHRE1—16—6]
B2 —6 1 I ETMMAETSTE 7% 144 141, 000 141, 000 143,000 0.0 1.4 1.4
(B —3 3)
XiE—-5 KiEMELFAELSTE7E 24 74, 200 74,100 74,100 -0.1 0.0 -0.1
(K#E—14)
KiE—11 KEHEANNFHBEI20%F2 50, 400 50, 000 49,800 -0.8 -0.4 -1.2
(K#E—10)
BR—6 ZHERTERAM1TE16%4 66, 500 67, 500 68, 500 1.5 1.5 3.0
(ZRR—11)
28R —15 |ZARTHANMEI4TESEF451 35, 200 35, 200 35, 200 0.0 0.0 0.0
(ZBR—2)
PE—7 PEHNENNS2THG6 9F 45, 500 45, 400 45,200 0.2 -0.4 -0.7
(PNE—2)
EHRE-5 BEEHHFEREAT2 TR 182 68, 800 68, 800 68, 800 0.0 0.0 0.0
(B#FE—10)
HfE—8 WHETREF=/HB334%6 54,000 54,100 54,100 0.2 0.0 0.2
(mTE—2)
R — 2 PEMEFEETEEO TR 17 1% 53, 200 53, 000 53,000 0.4 0.0 -0.4
(@ —2)
E|H—1 THMEHELEKSTE40E 42, 200 42,000 41,800 -0.5 -0.5 -0.9
(BH—2)
=ZN—1 ZIN\BR/N\BESTHFHH476F4 44,000 43,700 43,400 0.7 -0.7 -1.4
(RI\—2)
dtA-3 KRERILFETHAR 1 TH2 8 0 &4 51,700 51, 400 51,300 -0.6 -0.2 -0.8
dtA—-1)
EE (BE5—1 EEHYEE 1 TE4E 214,000 211, 000 209,000 -1.4 -0.9 -2.3
(25— 10)
B 5—4 IEETHERET1 TE13%& 83,100 82, 300 81,700 -1.0 -0.7 -1.7
(B 5—4)
X8 5—5 IEEREHFEISTH 1 7 &4 544, 000 550, 000 552, 000 1.1 0.4 1.5
(85— 19)
KE5—17 |KETHEITE1&FE24 113, 000 113, 000 113, 000 0.0 0.0 0.0
(8 5—20)
XiE5—9 KEHEEET3TH 1 5&4 119, 000 120, 000 120, 000 0.8 0.0 0.8
(KiE5—5)
FE5—4 PNEHEFEFE2TH 1 8 &4 53, 900 53, 600 53,200 0.6 -0.7 -1.3
(MB5—1)
EHBRE5—1 (BBERHBRMESH2TE2HF?2 80, 200 80, 200 80, 200 0.0 0.0 0.0
(BHFE5—1)
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